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Pull of y tor merged vertices

R N 1
L R () I ¢ Y | S A

A N O R S SR SRR AR

ook SN R 0.6 A
L\N....I....I....I....I....I....I....I.... oo W EEEEE FAEEE FEET FEEEE ST Lo

Ratio
Ratio

H
T
H
M
1
T
.

.
TTTT T
i
v
.

s

®o=i5=10 5 0 5 10 15 20 o =15-10 : 10 1520 05 =15=16° 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

0.8

- N : n ;

H — o H ) L H

: > . .F 5 g N | A

Foereeefil e S 1.8t N ERREAREER S I | I T

: a L : | SEREIESPPRICEEN | | AEERCPRREE! ERPRERERR SRR

: C =Ty T 1 I

H I ] i : : X : : : :
Eoo r L N | I
. : R i S a
- s b
o N S 1 N 1 1 O
Co 5 LA
SR O L : b H e
ro R AR | 17 & s | I

0.6 0.6F

Luof ! o 1w : o sl
L _‘,E ‘(-U‘ : H ‘c-s' L
[ 4 o h || o [
N T £ || || L 10000 SR
oost - LELEIIEN: SRR ) GO L | oost UEIRIIEN] ©
=20 -15 -10 -5 0 5 10 15 20 =20 -15 -10 -5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


